1.&28
HJatd | dEsE = e 24 ol o ol Y
2 B3 | ®Wa | ®a | o®wa | - "% O
(18.12) (18.03) 19.02) 21-28) (059) 06%) (%)
FQkA (2424/600Kg) 5,691 5,729 5,685 5,746 5,647 5,613 06
Q0| (19 /4~5¥) 2,779 2,577 3,097 3,320 3,320 3,320 00
= -
AE L5012 (M Y/4~52) 3,015 3,233 3,217 3,253 3,286 2,283 30,5
o
S01R| (L /6~7H) 3,056 3,119 3,108 3,097 3,123 3,149 08
S0 (HMY/6~72) 3,548 3,753 3,664 3,701 3,715 3,712 0.1
Sk 5 (/A8 Kg) 17,341 17,671 17,731 17,891 17,798 17,744 03
7142|712 (- 2/600Kg) 6,212 6,330 6,351 6,409 6,375 6,356 03
H M 2 (H/218Kg) 17,943 18,541 18,494 18,676 18,649 18,753 06
7142|712 (- 2/600Kg) 6,449 6,664 6,647 6,712 6,702 6,740 06
22 H| AN (/R KQ) 13,669 12,531 13,519 13,850 14,102 14,442 24
Zoj
VM| 5742|712 (4 2/600Kg) 4,847 4,443 4,794 4911 5,001 5,121 24
T (Q/A18Kg) 10,717 10,333 10,768 10,746 10,911 10,795 1.1
Ena
7142|712 (4 2/600Kg) 3,678 3,546 3,696 3,688 3,745 3,705 1.1
THH(R/A18Kg) 3,745 4,169 3,415 3,512 3,637 3,641 0.1
ZH 2|
HIS=(242/110Kg) 316 352 288 296 307 307 0.1
A
iz, FA(&//Kg)
714
& AH2HR/E2H07H)
=0 -
o S20(21//Ko)
2) o2 Y ERHA/NAZ SIS 22, o5, 28, 2, Z28AH A, 7IEHS AlRlst 7HA Y
3) HiR| HOf7HAE S2l5=2 Alelst BtT| 7|& 7HAY
4) S7t27H Sk A Al A8 2 25
-ot?, 2% d= Foi7HE x (AIS(600kg) x (AE&8/100))
-2 A A= FO0i7HE x (HAIS(110kg) x (A2-&/100))
-H2 2|88 SR W (59.7%), TR HMIR(59.9%), T2 HIAMIR(59.1%), 2 Wt (57.2%), THZ| BT (68.8%),
CHR| &EH76.7%)
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